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Write these statements as questions.

1 The water is too deep to swim in.

2 Andy is hiding in the woods.

3 Bolaisn't allowed out on his bike.

4 My birthday is in February.

5 lttakes Sophie thirty minutes to walk to school.
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Write two sentences. Each sentence needs to have two commas.

6-7

8-9
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Rewrite this short passage correctly. Remember to begin a new line when a
different person starts to speak.

10-20 Is it Gym Club tonight asked Thomas It always is on Monday replied Poppy
Thomas groaned he'd forgotten his PE kit again
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Rewrite these sentences without double negatives.

21

22

23

24

25

We didn’t want no homework.

Jake hasn't no problem learning his spellings

Dad couldn't find no gap in which to park his car.

Mia didn't wear no coat to the disco

We hadn't no problem hanging up the high decorations.
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Test 10: Sentences

1 Is the water too deep to swim
in?

2 Is Andy hiding in the woods?

3 Isn't Bola allowed out on his
bike?

4 |s my birthday in February?

5 Does it take Sophie thirty
minutes to walk to school?

6-9 Child’s own answer
10-20 “Is it Gym Club tonight?”
asked Thomas.
“It always is on Monday,”
replied Poppy.
Thomas groaned. He'd
forgotten his PE kit again.

21 We didn't want any homework.
22 Jake hasn't a problem learning
his spellings. or Jake has no

problem learning his spellings.
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23 Dad couldn't find a gap in
which to park his car. or Dad
could find no gap in which to
park his car.

24 Mia didn't wear a coat to the
disco.

25 We didn't have a problem
hanging up the high
decorations. or We had no
problem hanging up the high
decorations.




